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Revised Answer Key

GS Paper-I
Series - A Series - B Series -C Series - D

Q.No.
Correct Correct Correct Correct
option

Q.No.
option

Q.No. Q.No.
option option

42 C 90 C 70 C 50 C

65 B 13 B 93 B 73 B

GS Paper-II
Series - A Series - B Series -C Series - D

Q.No.
Correct

Q.No.
Correct Correct Correct

option option
Q.No. Q.No.

option option

None of the None of the
None of the

None of the
option is option is

option is
option is

13 correct, S correct, 3
correct, 33

2 marks will
correct,

2 marks will be 2 marks will be 2 marks will
given to all given to all

be given to
be given to all

all

15 B 10 B 5 B 35 B


